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QUESTION 1

You must expand an existing FAS8200 switchless cluster to a switched cluster and add a new FAS8200 

HA pair in the cluster. 

In this scenario, which three actions would you perform to expand the cluster? (Choose three.) 

A. Ensure that the switchless-cluster network option is false. 

B. Connect the existing nodes to the cluster switches. 

C. Change the cluster ports for the existing HA pair. 

D. Ensure that the switchless-cluster network option is true. 

E. Join the new HA pair to the cluster. 

Correct Answer: ABE 

 

QUESTION 2

Click the Exhibit button. 

An administrator realizes that daily snapshots are not being replicated to their destination. The 

administrator can see the daily snapshots created at the source. The exhibit shows the policy in use. 

Weekly snapshots are being replicated without a problem, and the SnapMirror relationship is showing as 

"healthy". 

In this scenario, what is causing the problem with the daily snapshot? 
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A. The SnapMirror label has not been applied to the daily snapshots. 

B. The SVM peer is not working. 

C. The daily snapshots at the source are busy due to the NDMP backup. 

D. The vault policy applied to the source volume does not match the SnapMirror policy at the destination. 

Correct Answer: B 

 

QUESTION 3

Click the Exhibit button. 

You are asked to identify cache hit rates on your FAS8200 HA pair NAS volumes. You need to increase 

performance of your HDD cluster1_01_aggr1 aggregate. 

Referring to the exhibit, which NetApp technology achieves the requirement? 

A. FlexCache 

B. Flash Pool 

C. FabricPool 

D. MAX Data 

Correct Answer: B 

 

QUESTION 4

Regarding root partitioned disks in an ONTAP system, which three types of objects are associated with ADP? (Choose
three.) 
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A. array LUN 

B. root partition 

C. container disk 

D. data partition 

E. shared disk 

Correct Answer: BCD 

 

QUESTION 5

An administrator forgot to update the cabling sheet for a core Cisco switch and cannot recall which ports 

were used by the NetApp FAS system. 

Which command should the administrator run to obtain this information? 

A. network port show 

B. network device-discovery show 

C. network interface show 

D. network port broadcast-domain show 

Correct Answer: A 

Reference: https://kb.netapp.com/app/answers/answer_view/a_id/1032596/~/how-to-diagnose-port-issuesin-clustered-
data-ontap-

 

QUESTION 6

If an SVM is renamed and it is participating in an intercluster SVM peer relationship, what is the result? 

A. SVM peers are removed and they need to be re-created. 

B. Snapshot copies are renamed with the new SVM unique identifier. 

C. SnapMirror relationships appear as broken and a resync is required. 

D. Remote clusters are updated with the new peer SVM name. 

Correct Answer: A 

 

QUESTION 7

A customer configured CIFS in an ONTAP 9.5 SVM. The customer wants to verify if the "CIFS Server" is 
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accessible from each node of the cluster. 

In this scenario, which command will accomplish this task? 

A. vserver cifs session 

B. vserver cifs connection show 

C. vserver cifs check 

D. vserver cifs domain discovered-servers 

Correct Answer: C 

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-cmpr-950%
2Fvserver__cifs__check.html 

 

QUESTION 8

Which three name services does ONTAP support? (Choose three.) 

A. HTTP 

B. local files 

C. LDAP 

D. NIS 

E. SNMP 

Correct Answer: BCD 

Reference: https://library.netapp.com/ecmdocs/ECMP1610208/html/GUID-
CF638806-8445-4306-9307804010B317A8.html 

 

QUESTION 9

A storage administrator has a single-node FAS cluster. The administrator wants to add a second node to 

convert the FAS storage array into a switchless cluster. 

In this scenario, what would the administrator do to accomplish the task? 

A. Add a new AFF HA pair and replace the existing FAS. 

B. Add a cluster interconnect switch and a second FAS of the same model. 

C. Add a new single node AFF controller to the existing FAS storage array. 

D. Add a new single node FAS controller of the same model. 

Correct Answer: D 
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QUESTION 10

When you create a new SSD storage pool for use with Flash Pools, how many allocation units are assigned to each
node in the HA pair by default? 

A. 8 

B. 2 

C. 1 

D. 4 

Correct Answer: B 

Reference: https://docs.netapp.com/ontap-9/topic/com.netapp.doc.dot-cm-
psmg/GUID-610B95D3-B0F34890-9A45-8A343BF40B29.html 

 

QUESTION 11

Which two interface group types enable the load balancing algorithm to be used? (Choose two.) 

A. load balance mode 

B. QoS mode 

C. dynamic multimode 

D. static multimode 

Correct Answer: CD 

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
nmg%2FGUIDF4924A4C-9B7B-4281-BD07-A2F195BAC42D.html 

 

QUESTION 12

You have a 4-node cluster with 2x AFF A700 controllers and 2x FAS8200 controllers. A volume set to default settings is
moved from a FAS8200 to an AFF A700 using the volume move command. In this scenario, which volume parameter
change will allow for data compaction? 

A. space-allocation 

B. security-style 

C. space-guarantee 

D. fractional-reserve 

Correct Answer: C 
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QUESTION 13

Click the Exhibit button. 

You execute the cluster1::> network ipspace show command, and notice that two IPspaces are not able to 

be renamed or deleted. 

Referring to the exhibit, what are these two IPspaces? (Choose two.) 

A. IPspace1 

B. Default 

C. IPspace2 

D. Cluster 

Correct Answer: BD 

 

QUESTION 14

An administrator is configuring a third-party software for NDMP. The application is targeting the IP of the data LIF of the
SVM called "SVM1". NDMP is configured as the SVM scope. The NDMP service is not enabled for the admin SVM.
SVM1 has a user called "Tom" with the backup role. Tom can connect by using SSH to the controller with the
credentials that he used to configure the third-party software. The authentication of the third-party software is failing. In
this scenario, what is the reason for the authentication failure? 

A. The NDMP password has not been generated for Tom. 

B. The application is not targeting the IP of the cluster or node management LIF. 

C. The NDMP service is not enabled for the admin SVM. 

D. The user Tom does not belong to the admin SVM. 

Correct Answer: C 
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QUESTION 15

Which FabricPool policy would you apply only on a SnapMirror destination volume? 

A. backup 

B. destination 

C. auto 

D. manual 

Correct Answer: A 

 

Reference: https://blog.netapp.com/cut-costs-on-your-performance-tier-storage-with-netapp-fabricpool/ 
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